## Non-Vehicular Source Fees Fiscal Year 2019-2020 Facilities

			2017	\$ Per	
	<b>5</b>	_	Emissions	Ion Fee *	_
Facility ID	District	Feepayer	(Tons)		Fee
	Bay Area AQMD	Chevron Products Company	•	\$316.65	\$785,925.30
	Bay Area AQMD	Shell Martinez Refinery	•	\$316.65	\$1,143,106.50
	Bay Area AQMD	Lehigh Southwest Cement Company	•	\$316.65	\$1,038,295.35
12626	Bay Area AQMD	Valero Refining Company - California	854	\$316.65	\$270,419.10
14628	Bay Area AQMD	Tesoro Refining & Marketing Co. LLC	2,149	\$316.65	\$680,480.85
21359	Bay Area AQMD	Phillips 66 Company - San Francisco	366	\$316.65	\$115,893.90
21360	Bay Area AQMD	Phillips 66 Carbon Plant	1,649	\$316.65	\$522,155.85
9	Eastern Kern APCD	California Portland Cement Co.	2,337	\$316.65	\$740,011.05
20	Eastern Kern APCD	Lehigh Southwest Cement Co.	852	\$316.65	\$269,785.80
21	Eastern Kern APCD	National Cement Co. Of California	1,735	\$316.65	\$549,387.75
100005	Mojave Desert AQMD	Cemex - Black Mountain Quarry Plant	2,641	\$316.65	\$836,272.65
900002	Mojave Desert AQMD	Searles Valley Minerals	1,516	\$316.65	\$480,041.40
1500039	Mojave Desert AQMD	PG&E Topock Compressor Station	270	\$316.65	\$85,495.50
3101437	Mojave Desert AQMD	Southern California Gas - Blythe	386	\$316.65	\$122,226.90
11800001	Mojave Desert AQMD	Mitsubishi Cement- Cushenbury Plant	2,637	\$316.65	\$835,006.05
223900003	Mojave Desert AQMD	Calportland - Oro Grande	1,154	\$316.65	\$365,414.10
3	Northern Sierra AQMD	Sierra Pacific Industries	274	\$316.65	\$86,762.10
44577	South Coast AQMD	Long Beach City, SERRF Project	256	\$316.65	\$81,062.40
171107	South Coast AQMD	Phillips 66 Co./LA Refinery Wilmington	467	\$316.65	\$147,875.55
171109	South Coast AQMD	Phillips 66 Company - LA Refinery	678	\$316.65	\$214,688.70
174591	South Coast AQMD	Tesoro Refining & Marketing - Wilmington - Calciner	329	\$316.65	\$104,177.85
174655	South Coast AQMD	Tesoro Refining & Marketing CO, LLC, - Carson	1,838	\$316.65	\$582,002.70
181667	South Coast AQMD	Torrance Refining Company LLC	1,597	\$316.65	\$505,690.05
800026	South Coast AQMD	Ultramar Inc.	271	\$316.65	\$85,812.15
800030	South Coast AQMD	Chevron Products Company	1,537	\$316.65	\$486,691.05
800436	South Coast AQMD	Tesoro Refining And Marketing Co. LLC	712	\$316.65	\$225,454.80

2	Shasta County AQMD	Lehigh Southwest Cement Co.	603	\$316.65	\$190,939.95
43	Shasta County AQMD	Wheelabrator Shasta E.C.I.	536	\$316.65	\$169,724.40
598	San Joaquin Valley Unified APCD	Guardian Industries Corp	313	\$316.65	\$99,111.45
948	San Joaquin Valley Unified APCD	Vitro Flat Glass LLC	314	\$316.65	\$99,428.10
1237	San Joaquin Valley Unified APCD	E & J Gallo Winery	253	\$316.65	\$80,112.45
1662	San Joaquin Valley Unified APCD	Gallo Glass Company	261	\$316.65	\$82,645.65
2073	San Joaquin Valley Unified APCD	Covanta Stanislaus, Inc.	290	\$316.65	\$91,828.50

Totals 38,446 \$12,173,925.90

\*\$316.65 = \$199.47 Base Fee + \$117.18 Supplemental Fee

## **Legend**

AQMD: Air Quality Management District

APCD: Air Polution Control District

## Non-Vehicular Source Fees Fiscal Year 2019-2020 Architectural Coatings

Fee Payer	2017 VOC	\$ Per Ton Fee	Fee
	Emissions		
	(Tons)		
Ace Hardware Corporation	330	\$199.47	\$65,825.10
Behr Process Corporation	662	\$199.47	\$132,049.14
Benjamin Moore & Company	269	\$199.47	\$53,657.43
Dunn-Edwards Corporation	529	\$199.47	\$105,519.63
Kelly-Moore Paint Company Inc.	340	\$199.47	\$67,819.80
PPG Architectural Finishes Inc.	860	\$199.47	\$171,544.20
RPM Wood Finishes Group, Inc.*	1	\$199.47	\$199.47
Rust-Oleum Corporation	1,733	\$199.47	\$345,681.51
Sherwin-Williams Company	2,268	\$199.47	\$452,397.96
Stoncor Group Inc.*	195	\$199.47	\$38,896.65
Tremco Inc.	108	\$199.47	\$21,542.76
Valspar Corporation	165	\$199.47	\$32,912.55
Tota	7,460		\$1,488,046.20

<sup>\*</sup> Part of RPM International, Inc., but billed directly

## Non-Vehicular Source Fees Fiscal Year 2019-2020 Consumer Products

Fee Payer	2017 VOC	\$ Per Ton Fee	Fee
	Emissions* (Tons)		
3M	1235	\$199.47	\$246,345.45
Albertsons Companies	933	\$199.47	\$186,105.51
ALEN USA	372	\$199.47	\$74,202.84
Bayer HealthCare LLC	887	\$199.47	\$176,929.89
Church and Dwight Co., Inc.	523	\$199.47	\$104,322.81
Colgate Palmolive	314	\$199.47	\$62,633.58
Conagra Brands	420	\$199.47	\$83,777.40
Costco Wholesale Corporation	404	\$199.47	\$80,585.88
Coty Inc.	1132	\$199.47	\$225,800.04
CRC Industries, Inc.	341	\$199.47	\$68,019.27
CVS Health	692	\$199.47	\$138,033.24
Diversey, Inc.	273	\$199.47	\$54,455.31
US Chemical	6	\$199.47	\$1,196.82
Dollar Tree Stores, Inc.	401	\$199.47	\$79,987.47
Ecolab, Inc.	1113	\$199.47	\$222,010.11
Edgewell Personal Care Brands, LLC	326	\$199.47	\$65,027.22
GOJO Industries, Inc.	1822	\$199.47	\$363,434.34
Primorance, Inc.	1	\$199.47	\$199.47
Henkel Corporation (for Henkel of America)	1,077	\$199.47	\$214,829.19
High Ridge Brands	322	\$199.47	\$64,229.34
Celeste Industries Corporation	4	\$199.47	\$797.88
Illinois Tool Works, Inc., Fluids NA	9	\$199.47	\$1,795.23
ITW Pro Brands	11	\$199.47	\$2,194.17
ITW EVERCOAT	67	\$199.47	\$13,364.49
ITW Evercoat, Auto Magic	25	\$199.47	\$4,986.75
ITW Global Brands	143	\$199.47	\$28,524.21
ITW Global Tire Repair	73	\$199.47	\$14,561.31

ITW Polymers Sealants NA	8	\$199.47	\$1,595.76
ITW Pro Brands	33	\$199.47	\$6,582.51
ITW Professional Automotive Products	1	\$199.47	\$199.47
Paslode, a division of Illinois Tool Works Inc.	6	\$199.47	\$1,196.82
PERMATEX	29	\$199.47	\$5,784.63
Johnson and Johnson	643	\$199.47	\$128,259.21
Advanced Sterilization Products	2	\$199.47	\$398.94
L'Oreal USA	843	\$199.47	\$168,153.21
Bath and Body Works	1785	\$199.47	\$356,053.95
Victoria`s Secret Beauty Company	1091	\$199.47	\$217,621.77
Newell Brands Inc.	404	\$199.47	\$80,585.88
Professional Disposables International, Inc.	319	\$199.47	\$63,630.93
Nice-Pak Products, Inc.	3	\$199.47	\$598.41
Parfums de Coeur	430	\$199.47	\$85,772.10
PLZ Aeroscience Corporation	308	\$199.47	\$61,436.76
Reckitt Benckiser LLC	3763	\$199.47	\$750,605.61
Rust-Oleum Corporation	2577	\$199.47	\$514,034.19
DAP Products, Inc.	95	\$199.47	\$18,949.65
Kop-Coat, Inc.	5	\$199.47	\$997.35
Legend Brands	8	\$199.47	\$1,595.76
RPM Wood Finishes Group, Inc.	38	\$199.47	\$7,579.86
SC Johnson	2661	\$199.47	\$530,789.67
Target Corporation	1055	\$199.47	\$210,440.85
The Clorox Company	1539	\$199.47	\$306,984.33
The Procter & Gamble Distributing Company LLC	4109	\$199.47	\$819,622.23
The Sherwin-Williams Company	2179	\$199.47	\$434,645.13
Valspar Consumer	5	\$199.47	\$997.35
The Valspar Corporation	302	\$199.47	\$60,239.94
Topco Associates LLC	364	\$199.47	\$72,607.08
Unilever	3236	\$199.47	\$645,484.92
United Industries Corporation	541	\$199.47	\$107,913.27
Spectrum Brands Holding	26	\$199.47	\$5,186.22

	4/ 524		¢0 000 407 00
ZEP, Inc.	441	\$199.47	\$87,966.27
WM Barr	939	\$199.47	\$187,302.33
Willert Home Products	253	\$199.47	\$50,465.91
WD-40 Company	511	\$199.47	\$101,929.17
Wal-Mart Stores, Inc.	1723	\$199.47	\$343,686.81
Vi-Jon, Inc.	1,170	\$199.47	\$233,379.90
Spectrum Brands (Global Auto Care)	163	\$199.47	· · ·

46,534 \$9,282,136.98

<sup>\*</sup>Companies with VOC emissions below 250 tons are subsidiaries that were billed separately per the instruction of parent companies